EARAROBEEIERT — 2 N— IBISH —F

20155 7H2H () 6mPI5I3H

79 v Ch (FREE) Y5R2K ‘ (Xf&] 7 ‘ (@l — | & (&) 10000 2
[AH£] 1 7% :800,000  ~ 23:160,000 @ ~ 3 7% :120,000 § ~ 4 3% :80,000 F . 5 7 : 40,000 M
E % E BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
5 o= o2 | BREBAE 1:00.2 1-1 37.2| — 3 438 | RER (AtimiE)
1 &Y 3 TJL—=—XAT v 274 54.0 (-) (+6) EERZ .
L4/ v Tq BiUL—ZXVINIy b i FER
oWl 4 | EXNNY #o2 | BHRE 1:(00).9 33 |876| — | 2 | 480 gaﬁ:ﬁ%ﬁtﬁi‘é)
. 4
L5400 Bivay LY %2 | iy
3 8 RAHIV— 2 E%%ﬁ t%] 2-2 38.6| — 1 424 EEE;(%@@
R:FaTLEN Bily F8T—F O | mericis
> DAL 2 | BLEE 1:01.7 44 |32 — | 6 | 462 HEEL git;;'{fé;ﬁﬁ
5 7E ¥ N> T —Hi5
LN T—I—b B—TaN>T— (7€) 2) N> T =435
5l5/5|Vav7>va47 2 ﬁl_l(l)@ 1(:30/14.)8 88 |37.4| — | 8 | 376 ﬂ?g)ﬁ;ijt’ff{f .
RV TFTIAL R B XA —-bF25 (+10) =i wE
6l7l7 TS —UH i 2 g%g‘s‘é 1( 701ts>) 4-4 3.4 — 5 448 Eé)%f; Eﬁjt*“é)A
. e
R:ALTrAT B:IZXALHT 100 | g5 5 — L
7 6l 72 PFv2TY o2 gigﬁg*%‘ 1(:10/22.>o 7-7 38.0| — | 7 | 456 E'?Eﬁ;ﬁiﬁi%%
QNS —Fp—b B2 02 | )il 8
glil1|3nvzERTY K o2 ;%i%ﬁ%# 1:08.1 44 |39.6| — | 4 | 404 ﬁagﬁit Clazz)
N : (5) x
LiEAERDH R BTN—TU T R e
® 1 —F—EAIE
13—7—
23— —
33—7F7— |[3,8,4,(1,2,7),6,5
43 —F— 3,8,4,(1,2,7),6,5
[ N3
-y 3 680F 74K 3-4 360 B = 3-4 1,460M & 3-4-8 330H
7 B 3 110 3-8 130H BB 3-4 3,160M HEH 3-4-8 6,460M
4 120M 4-8 150M
8 100

ABICOVWTRDTEEERROODE. TR LIV,




